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FieEl | (150—33)7 X 7.00%= 81,900 (150—33)%5 x1.50%= 17,550/
BEE 50,000M X 30.00%=  15,000M 50,000F1 % 6.00%= 3,000
H%E| 27,000 x 2A= 54,000/ 6,000 x 2A= 12,000/
FEE| 27,000M 4,500M
L 177,900 37,000/
BEHERIEE 214,.900MH
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FriEl | (150—83)F x7.50%=  87,750M| (150—33)75 % 1.80%=  21,060M
BEE RERBEL
H%E 28,000 x 2A= 56,000/ 6,000Ax 2A= 12,000
FE£E 27,000/ 4,500
=1 170,700M 37,500M
BEHERIE 208,200M
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FT8E | (250—33)% x7.00%= 151,900M| (250—33)7 x1.50%= 32,550/ (250—33)75 x1.30%= 28,210/
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HZ%E 27,000M x 4A= 108,000M 6,000 x 4A= 24,000/ 8,000M x 2A= 16,000/
FZE 27,000/ 4,500M 4,500M
B 286,900 61,000M 48,700
BEHEREE 396,600
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FrS#El | (250—33)73x7.50%= 162,750 (250—33)75x1.80%= 39,060 (250—33)5x1.60%= 34,720/
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% E| 28,000 x 4A= 112,000M 6,000 x 4A= 24,000/ 8,000 x 2A= 16,000/
FE£E| 27,000/ 4,500M 4,500M
BB 301,700M 67,500 55,200/
BEHERIEE 424,400M
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